[ Efficiency vs vertpos |

efficiency vs vert r

Ratio

Efficiend

efficiency vs vert z

Ratio

0.8

0.7

0.6

0.5

0.4

0.3

0.2

[RRREE VAN AR

.....................................

0.8

1

10 0?
TP vertr (cr%)

MKEIT_T 1base

mkFit_TT_retrainOldFiles125
mkFit_TT_retrainNewFiles125
mkFit_TT retrainNewFiles125AndSQCD

0004
lelelele
<4

0.95fHH- 1HHH]- K :
%830 20 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

efticiency vs Sim. PV z

Ratio

0.8 —
S0 R N
X U SO SO OO OO S N L
L
045— ------ - --------------
0.3;— ------------------------ -------------------------
0.2f bbb SR T S
PS50 O O O R T
b L P o
095— - :l:+ 1’1# : 3‘

E ] s 11
0567215 =10 5710 15 20

Sim. PV z (cm)



	Contents
	Page 1


